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Notc .

i) The question paper is divided into two parts — Part-A and Part-B.

Part-A and Part-B are divided into three Sub-Sections — (1), (2' and

(3).

iti) In Part-A of the question paper, there are multiple choice questy 1

which select the correct alternative and then by a blue or black
point pen, fill completely in the circle in OMR Answer Sheet. .

erase, cut or use whitener on the OMR Answer Sheet after ansv
iv) 1 mark is allotted for each multiple choice question in Part-A.
v) Part-B has descriptive questions.
vi) The allotted marks are given in each question.
vii) All the questions of Sub-Sections of Part-B arc to be attempted all at a

time. Start each Sub-Section from a new page.
viii) All the questions are compulsory.
qug - A
PART - A
( Fghrmedta ov )
( Multiple Choice Type Qﬁntlom )
IAHTT - (1)
Sub-Section - (1)
1. mmmmmﬁﬁmmmﬁmﬁ%mmgma
araE a1 ST R IR R g A H Reder st
A) BHE | " (B) mq&ga%smﬁ
(C) T FZ W (D) 3 W 1
A ray of light incident on a concave mirror retraces its path after

reflection from the mirror. The ray intersects principal axis at
(B) in between focus and pole

-(A) focus
(C) centre of curvature (D)  infinity 1
*00/56
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ot T & R ¥ 824(IM)
o 0w % fore v, it wen safifa sfafea @ 31 @
W | (B) 3ud

HAA-ASdA )
© (D) ¥} F )

A lens for
certam position of the object forms an imaginary, erect and
magnified image of the object. The lens will be

(A} concave +B) convex

(C) plano-concave - (D) none of these - 1
¥ S0 A BrFE gt # ofad e o 2 -

(&)  gaelt grr 113] gt ves g

(C) it grT . . (D) vEmR wiEIRE g .1
Focal length of .eyc lens is changed by :

(A) pupil . 1B) retina‘.

(C) iris : ' (D}  ciliary muscles 1
= T ¥ A ﬁ‘-ﬂz IR FHTAHT T &

(A) STaEdT (B) ¥

© fRadr (D) 9T 1

Optical phenomenon responsnble for blue colour of clear sky is

(A) refraction (B) -scattering

(C) diffraction -
freft g we@ W 440 TR, zzohyﬁm%!ﬁmwmum

(D) reflection 1

@) 100 3 (B) 2253
€ 11530 (D) 110 30w ' !

440 W, 220 V is marked on an electric bulb. The resistance of the

the bulb will be

filament of |

(A) 100 ohm (B) 225 ohm |

(C) 115 ohm (D) 110 ohm 1
[ Turn Over
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6.  foga ahuy § yqw €0 1@ 5o vl & T RE WA T RA M ¥ ww g
1 2 ™ i A gier W wh fwe & 95 i
A ' B

(1) —wpln— () R TR
@ —Q@r— (i) Fgadw

@) —j— - (iii) Rt wferiy
(4) + (i) arfie

(A)  (1)-(iii), (2)-(v), (3)-(@), (4)-6) (B)  (1)-(ii), (2)-(id), (3)-(iv), (4)-(i)
(C) . (1)-(ii), (2)-(iii), (3)-(v), (‘;H-(il (D) (1)-(ii), (2)-(ii), (3)-(i), (4)-(iv) 1
Symbols of few components used in electrical circuits are given in
column A. Match with names given in column B and choose the correct
option :

A B

(1) —W () wire crossing
@ —A)— (i) electric cell

(3) ——“— (iii) wvariable resistance
(4) + ~ (iv) ammeter

(A) - (1)-(i), (2)-(v), @)-), (-6 (B)  (1)-(id), (2)-(id), (3)-(iv), (4)-(i)
(€ (1)-(i), (2)-(id), B)-(v), (4)-) (D) (1)-(idd), (2)-Gid), (3)-(i), (4)-Giv) 1
7. freht yrramd afefere & @aaagES TR W 7T fRR gh

A) d-ufan @ | (B) M- &

(©) -z & (D) Tt oft fem & 1
7 A freely suspended current carrying solenoid always rests in

(A) ecast-west (B)  north-east

(©) north-south (D)  any direction 1
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IGHTT- (2)

Sub-Section - (2)
8. frafafgs & $F-f urg 0 & a9 W 3w eEy d T gl 7 2

(A) AffeEm B) "H)

(C) =R D) 1
8. Which of the following metals is not i;l solid state at room temperature ?

(A) Magnesium (B) Mercury

(C) Copper (D)  Aluminium 1
9. 3T T &R Y i | g @

(A) BTSN (B) HraieH

(©) (D) W q T 1
9. Reaction between acid and base givcsx

(A) Hydrogen (B) Oxygen

(C) Chlorine (D) Salt and water 1

10. Frafafga afufean

CaCOyj (s) —==> CaO (s) + CO, (g)

I 8

(a) T sfifsean B) T stvfen =

(C) _ 3qgeA AR I (D) wgoE i @ ]
10. Following reaction o

CaCO; (s) 8% Cao (s) + CO, (8)

is an example of

(A) displacement reaction (B) double displacement reaction

(C) decomposition reaction (D) combination reaction 1
11. mww%ﬁmﬁwm%?

(A) C B) N

Cc O | (D) F 1
11. Which atom has the property of catenation ?

(A) C B) N

© o© D) F |
5000/56 [ Turn over
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12.  fFrafafea § ooera 2

(A) CH;—CH=CH, (B) CH3;—C=C-—H

(C) CH,=CH, (D) CH;—CH,—CH,
12. Alkyne among the following is

(A) CH;—CH=CH, (B) CHz;—C=C-—H

(C) . CHy=CH, (D) CH;—CH,—CHj
3. 4w sttt % v 3 s e 2

(A) T (B) wH

(C) TR v (D) WA
13, is used in the form of fuel and medicine.

(A) Ethanol (B) Ethane

(C) Ethanoic acid (D) Propane

SUNET - (3)
Sub-Section - (3)

14.  TE I 1S N Ieweid hI WiHAT F Wi ot @, R

(4) dBT (3RA) B} Y (I%5)

(C) drzeH (D) A
14. Unit of kidney, which takes part in the process of excretion is

(A) Neuron (B) Nephron

(C) Cyton (D) Muton
15, i # Sgem feraes fore IweR @ 2

(A) & H T (B) WISH 1 98

(C)_ Il st 1 F&A (D)  3fr F w7
15. Xylem in the plants is responsible for '

(A) Transport of water - (B) Transporf of food

(C) Transport of amino acids (D) Transport of oxygen
5000/56
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16. WUl 9w % foru sravassdr @i ?
(A) HTEA SEHRTFEES 3N I (B) TR
(C) H& & ybw HY (P) FHaW 1
16. Autotrophic nutrition requires
(A) Carbon dioxide and water (B) Chlorophyll
(C) Sunlight (D)  All of these 1
17.  SAfewam i ufRufy § qreede & et SIw & Fa ym A gt 2 2
(a)  wfrw ge (B
(C) _ wrsiehtiogan (D)  id:ga Sferest 1
17. Pyruvate is oxidized in which part of the cell in presence of oxygen ?
(A) Cytoplasm (B) Nucleus
(C) Mitochondria (D) Endoplasmic reticulum 1
18.  Hugd A 319 wam feean
(A) ST oI ¥ svemE ¥ fa _(9) AR F I ¥ g
(C) =TEd % I & fer (D) 7§ % 3eareT % forw ]
- 18. Why did Mendel conduct his experiment ?
(A) For the study of inheritance of traits
(B) For production of pea
(C) For production of rice
(D) For production of wheat’ 1
19. frafafgs § @ #9 H9H 9@ @O & e R qor el 2 2
(A) FARRIRISEA (CFC) (B) EA SHIATFAEE (CO,)
(C)__rla AITaarss (CO) (D) TR 3= (HNO,) 1
19. Which one of the following is the main substance responsible for ozdne
layer depletion ?
(A)  Chlorofluorocarbon (CFC) (B)  Carbon dioxide (CO,)
(C) Carbon monoxide (CO) (D)  Nitric acid (HNO,) 1
5000/56
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20. ﬁrﬁrﬁﬁaﬂqmq@mwﬁuﬁwﬁﬂ.
| p), oM. aad] a1 WA
(A) uTE, TT§ a¥1 AW (B). o
gy, gHel A4l & 1
(€) @t ma am gref (D)
in ?
20. Which one of the following make up the food chain
Grass, goat and human
(A) Grass, wheat and mango (B) ' E  eleohant |
-~ . e »
(C) Goat, cow and elephant (D) Grass, fish an P
g -
PART - B
( FuATE AT )
( Descriptive Questions )
ITHTT - (1)
Sub-Section - (1)
1 (i) ST e I g ! gHAETI 2
(i) #%ﬁ—gﬁmwmmﬁmmﬁ%ﬁmﬁ%ﬁw 2
1 (i) Explain the phenomenon of refraction of light. 2
(i)  Write a short note on hypermetropia and its correction. 2
, ) v g A wrew g % R g R IO o $HR R 3w e
2
i) 2 &t ol a5 20 & ErFE g F. 396 AW F THE T N & A
<t 21 S @ T 1 g 30 ht R) wfeferm A fufa qen wpfa s i)
_ 2
2 (i) Give the formula for the focal length of a convex mirror. Give any
| 2

(i)

&000 /56

%

two uses of the convex mirror.
length 2 cm is placed in front of a convex lens

An object of
s, having focal length of 20 cm. Distance of

perpendicular to its axi
the object from the lens is 30 cm. Find the position and nature of
the image. -
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(i)

(i)

(i)

(i)

(i)
i)

(ii)

5000/56

9 824(IM)
et gy 83 & yrraTd s W R aTen W@ Re-fR wRE W Ak
FTAR?

2
T a1 uraTd gfeferan # 3t vy i) 2
On which factors, does the force acting on a current carrying
conductor placed in a magnetic field depend ? 2
Explain the difference between magnet and current carrying
solenoid. https://www.upboardonline.com 2

YT e ¥ g g 8 Ry 0 F R 2f-ga s
fram fofigw) €9 wrrerd e grn e g 89 YEns #t gt

3
fed M ofwy & AvE BF i gew sfldy aw 5 Q SRy & R F e
fenraier Y orn Hifdny 3
) 4 Q 50 10 O o
6V |
It
Frerat

e vl # W@ W w0 AeE & 2 Rl wem § e st 2200 A
t|ﬁgﬂﬁm{ﬁ220vmﬁmzlmﬁ'mmmmm
B =iy ? faga et w1 s T fafag 3
ate] forga aftay & w3 a % W A e ARl % o Rl 3

State the right-hand thumb rule for finding the direction of
magnetic field associated with a current carrying conductor. Show
the magnetic field lines due to straight current carrying conductor.
3
In the given circuit, find the equivalent resistance between A and B
and potential difference between the ends of the 5 Q resistance. 3

4Q
. cq 10 Q .
16V
|'I!
OR
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(1)

(ii)

D. (a)

(b)

5000/56

10

What is the importance of fuse in electrical circuits ? Total load of

a house is 2200 W. Electricity is supplied at 220 V. What shoulq
be the rating of fuse used in the house ?° Write down the

commercial unit of electrical energy- 3

Write the names of the wires used in the domestic electrical circuit

and also write the colours of the insulating wires. 3

IOqNTT - (2)

Sub-Section - (2)

fr=fafaa At &1 IUPAC T fafReT : | 1+1
@y :
§ H-C—C—C=Br
H H H
H H O
G H—C—C—C—OH
B H

) e e w1 T e fafe) (e wie fafeg) )
(i) Eafra el fafeg

A R + Tt e o
Afram wehe + it T
| 1
Write JUPAC names of the following compnur;ds : 1+1
w o
[
(i) H—(E—(;J—(;—Br
H H H
H H O

N |
(i) H C—?—-C-—-OH
H H
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(b) (i)  Write an example of combination reaction (write equation
only). 1
(i)  Write balanced equation : 1
Barium chloride + Aluminium sulphate —»
Barium sulphate + Aluminium chloride
6. (]) mﬁﬂmmm 1+1
(i wfEm
(i) A
b) Frafafgs el # wgia Hf . 1+1
@  Fe(s)+ HO (g) —» FegOq (s) + Ha (g)
(i) CeH 1206 (aq) + O, (aQ—>CO; (aq) + HO (1)
6. (a)  Write electronic configuration for the following elements : 1+1
(i) Sodium
(i)  Chlorine
(b) Balance the following equations : 1+1
i Fe(s)+ HaO (g)—> FesOq (s) + Hz (8)
i) CeHii06 (8a) + O (a)—>COz (ac) + HxO (1)
ﬁnﬁ#ﬁaﬁ T m m m : _ 24+2+72
(@) g ol
(b) @l Td STaraEe
(e) fige
Fgan
(a) ﬁmﬂmmmﬁi?tﬂﬂw*ﬂ\mml 3
(b) S ik e b A o T P IEw AR 5
7. Wri‘be short notes on the following : 2+2+2
(a) Acid rain
(b)  Ductility and Malleability
(c)y Micelle
OR
5000/ 56 | Turn over
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n ? Give two measures for

(a) What do you understand by corrosio
3

protcction against it.

(b) What do you understand by Exothermic and Endothermic

, . 3
reactions ? Give examples.

JINTT - (3)

Sub-Section - (3)
8.l SR () 6 GTE SIS qu §6% HE H A HIoCL 2+ 2

8. Draw the structure of a nerve cell and describe its functions. 2+ 2

frafeafiga w wfim foafml fafe 2+ 2

(i)  UrTRA gE & &6

)  TFeAI
9, Write short notes on the following : 2+ 2

(1) Functions of thyroxine hormone

(i) Budding.
10. qeft di & SAftres s F ot Ao 4
10. Describe sexual reproduction in the flowering plants. 4
11 qgsa’fﬁai'“ﬁ'\‘ﬂﬁqﬁmﬁﬁh TreatiaaTss 1 A TR A R 2 3413

HAGdT

77 ¥ §Ea 1 G I I0GH A A WE ¥ T R 6

11. How are oxygen and carbon dioxide transported in humans ? 3+3
OR
Describe the structure of human heart with the help of suitable diagram.
6
S ———————— ]
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https://www.upboardonline.com
Whatsapp @ 9300930012
Send vour old paper & get 10/-
O [ A9E #F AR 10 F9F 9,
Pavtm or Google Pay #

5000/56

https://www.upboardonline.com



